o(d dxy) (c

o(d o) (rad)

Ratio

0.95 i

~107'F

1 11 11 11 1

C: 5 ) 5 " -+ :
| 4 5 ) 5 : 5
I Y AP N ) A R AR AN O ) O O O 5. A O (PR I O P D O
| : + : : :
L. . B . E 3 .
E : I A : T |
E + ] AP + :
1=fef----- R N RN B EEEY EEEY FEF] B B . o BN 53 B BN EEEE B BY BY B BE B
[: ; +! T ! |
095'i i i i i * i

- 11 1
L.V

o

-3 -2 -1 0 1 2 3

o(d dz) (cm)‘
o

1
i

—=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
—«— DQM_V0001_R000000001__Global__mkFit100__RECO
—«— DQM_V0001_R000000001__Global__mkFit100tobtec_ RECO

3 -2 -1 0 1 2 3
TP ® (PCA to beamline)

o p_/p.)

o 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


